INFORMATION HANDOUT

For Contract No. 09-353104
At 09-Mno-395-6.9/R9.9

Identified by
Project ID 091200000
MATERIALS INFORMATION

Section 1
EXISTING PAVEMENT INFORMATION

Section 2
ALTERNATIVE FLARED TERMINAL SYSTEM DETAILS



SECTION 1

EXISTING PAVEMENT INFORMATION




EXISTING PAVEMENT INFORMATION

Contract Number
09-353101

09-MNO-395
PM 6.9/9.9

Cold In-Place Recycling and
Hot Mix Asphalt Overlay



TABLE OF CONTENTS

Cover Sheet

Summary of Investigations
AC Thickness Chart

Field Notes

Core Pictures

SANE IR VST NS I

Summary of Investigations

Pavement investigations were conducted on Route 395 from PM 6.9 to PM 10.3 for cold in-place recycling. Cores
indicate that the engineering properties of these materials may be improved to provide sufficient strength required
to extend the life of this pavement for a few years by recycling the upper portion with asphalt emulsion and
capping with hot mix asphalt.

The general structural section is hot mix asphalt over aggregate base. Cores indicate a depth of hot mix asphalt that
range from 0.50+ foot to 0.92 foot. Some of the core samples were delaminated. Some of the bottom layers of the
cores are cracked.

The existing asphalt concrete appears to have some pumping failures, transverse (thermal), occasional longitudinal,
and occasional to nearly continuous alligator cracking.

Any reliance placed by the contractor on this information shall be at their own risk and they shall undertake their
own separate testing program to determine the materials present and conditions prevailing at the time of
construction.



AC Thickness Chart

Northbound Southbound

PM 6.9 Core#l 0.77° PM 9.9 Core #8
PM 74 Core #5 0.80° PM 94 Core #12
PM 79  Core#2 0.67° PM 8.9 Core #9
PM 84  Core#6 0.78° PM 84  Core#13
PM 89  Core#3 0.92° PM 7.9 Core #10
PM 94  Core#7 0.88’ PM 74  Core#l4
PM 99  Coret4 0.83’ PM 6.9 Core #11

0.83°
0.84°
0.97°
>0.50
0.78
0.62°
0.91°



Field Notes

Core PM Lane Info

#1 6.9 NB#2 Full Depth Core/ Agg Base/Core Broke apart trying to extract

#2 1.9 NB#2 Full Depth Core/ Agg Base /Core Broke Apart trying to extract
#3 8.9 NB#2 Full Depth Core/Agg Base under AC

#4 9.9 NB#2 Full Depth Core/ Agg Base / Core Broke in Half during extraction
#5 7.4 NB#1 Full Depth Core/ Agg Base

#6 8.4 NB#1 Full Depth Core / Agg Base

#7 9.4 NB#1 Full Depth Core / Agg Base

#8 9.9 SB#1 Full Depth Core / Agg Base

#9 8.9 SB#1 Full Depth Core / Agg Base

#10 79 SB#1 Full Depth Core / Agg Base

#11 6.9 SB#1 Full Depth Core / Agg Base

#12 9.4 SB#2 Full Depth Core / Agg Base

#13 8.4 SB#2 Full Depth Core / Agg Base / Core Broke apart during extraction,
core length is longer than .5 tenths

#14 7.4 SB#2 Full Depth Core / Agg Base / Core Broke apart during extraction

Also every core location is either plus/minus 150ft from actual PM. But in general area of actual PM.



R B R R R E PR R NN ER RS
10 M 121314 151617 1819 20 21 22 23242526 27 28 29
||E_LJII|I1I|'|H_]_QII‘1 Lodabadedadilaly
¢ AR R L T S B

|
i

Rpece s

SEALLRRARRARARER

T
Dl

6

UL
¥ 8 9
puulinl

10/15/2013 35

suO'l



NENRRNERR RN RN R
10 111213 14 15 16 17 18 19 20 21 22 23 24 25 26 21
|J LLJ_ ? | 1| Tl

S s

ST LA L P
. .QJ .lrL hs' 6 ) 8 R

LA R L LLLLILLLI LLLLLLLLL

APRARSRNRANRARERNN




lIllillli|lll||l!liliii\1li\ll|l REEERERR R
N121B1KLSB617TBY20202232,25221282 0 N R
!_L_j,lll I_IIIMLLHHHHIHM

FEEPHEEHERER N | PEEREEREE R TR e l‘

B S a9 10

0'; mmm .JLIIHI !U'ILLU RELLLLEE LRI LLLL mmw TROTTRTR TR TRt Rt ERPAn AR TR RN N

NE 72 Lo




— —
SRR 57 Dl

&~

NB #2 ol LR

E !

Coge #4 s

N
12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 3
ENE

3
g

09:38

= = &
o rogt
a

\
\



_ |I|||l




- —

PN

-

10



Vﬂ”””l EEEREEERERER ERERRNEEE)

BEARE

%102 3 4 5 6 7 8 9101 1213141516 17 18 19 20 21 22 23 24 25 26 21 28 29 30 3 37
S e e NN NN R

REEHE et A

i.‘_i_.Hl;l_}ll[lvllll-l‘lllvl .|;||I|a|‘ “ﬁ“” ;.lili-ln-” .
e R A M

ARRARRRNRRRNANARRRERLY

11



102 3 4 5 6 7892 10NMNRRBILBIGNNBOYAANNRNB2LS2621890
: _“__.-‘_-"--,L‘g:":’;:.ffﬁ.l.l 1

LA R

_ —{Tm P RN RN R RN R

\J - i i ]

i‘_l‘!lr!ll BEEEEREEEEEEEEEFEEEELERT | EEEEErhrd IHIHl

B 7| 8 9| 1

PETe INRTRI A RARTANAT

12



SO S
TITITT REEREEEEE RN RN AERERRE
102 3 6 78 9101 1213141516 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 3 &
Lk btk 1 5 sk

e, P S B : adalilily g

o B T S .
w 3 .?“,g y Py ‘7' aadas i
.y a r =y g . ‘?.\‘ & N ‘ L. S e

;o

99 10~ 1

AL LRI LR

13



Pt

T e i

LLLLLY




o

w1 TTT31T] R R R RN E RN R
10 1112 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 3
L1 I__. _ TS E \\’_J-_E@'._;,J.,1..,'4—14..'-'_‘4,‘.‘ AT W R

e

._i :; -.7-“__.‘.:,»-_ ; . — -’ ._4?__.‘_.37 S = S a
R R A L

PR 6l 7| 8 9 1

IRANRRRRRARNRRRRNNNARRRRRRY




78 9101 121314151617 1819 20 21 22 2324 25 26 27 28 29 20 3
NOTHERVH S R iy HEE R RN R R R
. e R il T 5 : i |

! i

el

'§ - e = - . rag 4" .
> i R - - s 4 - &

s - g5

LEREREERE P EEEE TP E R TR llliHIII I

RER 6| 7| B8 9 Al

NN NN NN RANNNNRNANNANANNNNANARARRARAY




LTI T

9 10 112131415 16 17 18 19 20
N N2B32425
Libebebibebidibatabitatalgy |1 12? 12?

o . - 5 v‘w TRRARy —— e
- - I : »

-

T

ST

g e T I

L LT AT AT T ST A Ce Y

§ ..

\ll
LLLLL LU ELLLLLLLLLLLLLL]

17



@102 3 4 56 18 910MN1213141516171819 20212223724
25 26 21
Sl L L LD L L L L D L b))

T

litnm L ULy DL L

s 3

it

4 8 .6 3 8

o o ol




EXISTING PAVEMENT INFORMATION

ADDENDUM
Right Turn lane at upper Rock Creek Road

Contract Number
09-353101

09-MNO-395
PM 6.9/R9.9

Cold In-Place Recycling and
Hot Mix Asphalt Overlay



TABLE OF CONTENTS

Cover Sheet
Summary of Investigations
Core Pictures

W Y =

Summary of Investigations

Pavement investigations were conducted on Route 395 from PM 6.9 to PM 10.3 for cold in-place recycling. Cores
indicate that the engineering properties of these materials may be improved to provide sufficient strength required
to extend the life of this pavement for a few years by recycling the upper portion with asphalt emulsion and
capping with hot mix asphalt.

The general structural section is hot mix asphalt over aggregate base. Two cores were taken in the southbound right
turn lane at upper Rock Creek Road which indicate a depth of hot mix asphalt that ranges from 0.46 foot (PM 9.35)
to 0.80 foot (PM 9.3).

The existing asphalt concrete appears to have some failures, transverse (thermal) and occasional longitudinal
cracking.

Any reliance placed by the contractor on this information shall be at their own risk and they shall undertake their
own separate testing program to determine the materials present and conditions prevailing at the time of
construction.



|

ST
oy 6 i

|LLLLLLY o o b




|1 EEEEEV RS DR RS
78 910 1121314151617 18 1920 21 222324252627 28 29 30 3

e
B e =

.ﬂMHMMHWWHmMMWWﬂMHMMMMMWW
A i {s 2§ B 9 1.0
| HIMM.mmMummMmmnwm

L iz

e R T Rt

| | 5B RiGHT “uen i i
. e i}t‘csé@#ﬁf |

L
|

o §

| 1
: l | | ;)
| o g 0 L R | &y
I 3 . - 3




SECTION 2

ALTERNATIVE FLARED TERMINAL SYSTEM
DETAILS




PN 30006 BILL OF MATERIAL
PN | o DESCRIPTION

DFFSET NOTES:
1} POST OFFSET DIMENSIONS ARE GIVEN T0 THE CENTER OF THE TRAFFIC FACE OF POSTS, EXCEPT

AT POSTS §7 & #6, WHERE DIMENSION IS TO CENTER OF THE TRAFFIC FACE OF THE BLOCKOUTS. - TC 1276 /FLG PROTECTOR (AT POST Z 4 & 6)
2) GUARDRAIL BETWEEN POST 1-7 IS ON A STRAIGHT LINE FLARE. 306 12/176/5 SRT-1 (GUARDRAL)

FIRST LINE POST OF APPROVED
317 HIGH GUARDRAIL SYSTEM PN 9960G

LENGTH OF NEED

T00A CAH.E ANCHOR BRACKET

3
1
| 39C 1 |12/12'6/S SRT-2 (GUARDRAIL]
1
1
1

9076 fwmmm (TERMINAL)
(POST §7 NOT INCLUDED WITH SRT) I3 30006 3/ x 6-6
2
‘b | 32406 | 2 6" WASHER (AT POST 1)
. E 3245 | 2 16" HEX NUT (AT POST 1)
ES b [ 35006 [ 12 [5/87 WASHER
—{ L 33406 | 67 HEX HGR_NUT
2 T ST T e e oy 23 ST T U S R LNt S P S G TR NS PE (CSSE PSS | OIS SR TN R RS P RS SRS R PSP PASos. , R AP _ o [ 330G | 52 |5/B% x 1 1/& HGR SPUCE BOLT
o = f Z s 8 [5/E9«11/7 Hex mo BOT
DEFLECTOR ANGLE (HIGH END) OF SLOT GUARD SHOULD BE: TRAFFIC 2 A 3006 5769 x 7 HGR POST BOLT (AT POSTS 1, 2 & 4
POSITIONED IMMEDIATELY DOWNSTREAM OF SLOTS. T b = [l 58" 1 1 3/¢ HEX BOLT (A3ZS) (AT STRUT)

QJARDRNL PMBS ARE NOT ATTACHED PN 7G ATTACHED TOPOST 2, 4 & 6
g3 /|_ §-3 <

39006 17 WASHER (AT CABLE)

6-3 1 6-3 6-3" | 39106 1" HEX_NUT (AT CABLE)
421G | 2 |56 x 1 3/4 HEX BOLT (AT POST 1
4419G | 1 | 5/5'% x 1 3/4 COUNTERSUNK HD BOLT (AT POST

] i MEASURED AT
H 7 7 H BACK OF RAL
STANDARD 31° H GUARDRAL | SRT-31 T
| s S e | R PN 33606 ] PN 33606 | C !
| 7 (SEE NOTE ABOVE AT POST f7) T e T / \ :
B i 9960G | 4 |SLOT GUARD BRACKET
g - ]
5
1

6'-3

- - o [live— T |

I - [ 09676 12/84.5/51.5/5 SR1-3 (GUARDRAI

f s T 150006 50" SYT POST (W5 X B5
ih L 335086 CABLE_ANCHOR BRACKET (AT POST 1)
i‘i L. i i 336756 | 1 [ANGLE STRUT 3x 3 x 1/4

Y AFTER FINAL ASSEMBLY, 340524 1 |CR POST 1 BOT (W6 x 15]

1 Py iy en 306/ puosac] || Dpuasgoc wiw sswoc || oiod CELETD 34053A | 1_[CR POST 1.70P (W6 x 5
i 1 gﬁ?w%r‘imﬁm 3380G | | AND HAS NOT RELAXED. 34054G | 1 |POST SHELF ANGLE (AT POST 2)
Il
i

1
1
1
3360G & PN 33406
6 REQD AT EACH PN 9960 | | BOLT HEADS ON TRAFFIC SDE
1
1

©=
®

& oo

O ==
K25
EE

C
POST YIELDING HOLES
AT GROUND LINE GROUND LINE PN 15000C (SYTP YIELDING POSTS) 2 RS VASHER & NUT AT EACH END OF CABLE
S"\ @ PN 30STA -
‘ ] L
| rosts @-® T R ™
PNA41SC W/PHISDG PN 76 gtttk PN 340534 — /- PNAZIG W/PNI240 & PN324SG
B A N et DO NOT ATTACH RAL TO POST — PH3400G W/PNI340G
| PN3400G =
:/’oo NOT AT o PosT 4 72 . | s FH- 3%
P s PN 150006 £t
PN 109676 PN 30 PN 306 —;—:Q" &
PN TG PN 76 _l_ z i
340546 o n
o 150006 — | o 150006 — | N 150006 — | o kel L2 6 i
1l PN3301G W/PN3340G & (2) PN3300G
1l J WASHER UNDER BOLT & NUT
TG WG 4 R S YRS i) mmnizc el s |
- El el
- VIEW "G-G"
3 R D A5 you e
2 |4 | BT | LH 10/6/10] OFFSET POSTS 7 & #8
T & 3 [er| w2/, REVISED HARDWARE
B & 7 | 56| U1 |7/28, REVSED POST f1 LENGTH IN GROUND
PN 340524 e g HEIL '\ﬂﬁfgmw W BILL OF WATERAL
0, . [
i R N || | | = R —="1
OIS !
SLOTTED RAIL TERMINAL SRT-31 (31" H) ST g
A e ERECTION DETAILS CoTa——
SECTICN "D-D" SECTION "C-C" SECTION "B-8" SECTION "A-A" [ENLARGED VIEW @ POST #1 (3 PANELS, CR AND SYT POSTS) W 10/30/07
( @ POST #6) (0 POST j4) (ePSTR &) (0 PoST 2) (PG AEf ssase-0E |

ENG.
o B o e el by et | . TRINITY HIGHWAY PRODUCTS, LLC.  fsme—frorr——]

Nefther the drawings nor such nformalion fs fo be used for_any purpose 2525 STEMMONS FREEWAY
other than that for which it was specifically fumished from Trinity Highway ‘ ’ DALLAS, TX 75207 ORASG A Y
Products, LLC., nor is ony authorized without written permission. SS 436 4




ITEM|QTY BILL OF MATERIALS ITEM NO.
A | 1 |IMPACT HEAD F3000
. 37'—6" Straight Flore B | 1 | W-BEAM GUARDRAIL END SECTION, 12 Go. | MGS-SF1303
LEAT-SP_jeg Tartiliics C 1 | FIRST POST TOP (6X6X" Tube) TPHP1A
\T\ o D | 1 | FIRST POST BOTTOM (6 W6X15) TPHP1B
\I\S'—Y Steel Posts, 15~ — E | 1 | SECOND POST ASSEMBLY TOP UHP2A
\[\e'-a” ® 9 12 Gage W-pgoqry R F | 1 | SECOND POST ASSEMBLY BOTTOM HP38
6'-3 el G | 1 | BEARING PLATE E£750
\T\ " H | 1 | CABLE ANCHOR BOX 5760
Rail Esit on J | 1 | BCT CABLE ANCHOR ASSEMBLY £770
30" to 48" Traffic Side
HARDWARE (ALL DIMENSIONS IN_INCHES)
Length of Need o | 2 [5/16 x 1 HEX BOLT GRD 5 B5160104A
7 b | 4 |5/16 WASHER WO516
c | 2 |5/16 HEX NUT NO516
P LAN d | 9 [5/8 Dio. x 1 1/4 SPLICE BOLT (POST §2)] B580122
- e | 1 |5/8 Dia. x 9 HEX BOLT GRD 5 B580904A
T RA F}—_| C T | 3 |5/8 WASHER W00
. g | 10 | 5/8 Dia. H.G.R NUT NO50
_— h | 1 |3/4 Dio. x 8 1/2 HEX BOLT GRD A449 B340B54A
i | 1 |3/4 Dio. HEX NUT NO30
k 2 |1 ANCHOR CABLE HEX NUT N100
(H, m(8), n(8), o(16) End of Payment 1| 2 |7 ANCHOR CABLE WASHER W100
for Installotion m | 8 | CABLE ANCHOR BOX SHOULDER BOLT SBSBA
n | 8 | 1/2 A325 STRUCTURAL NUT NOS5A
o |16 |1 1/16 OD x 9/16 ID A325 STR. WASHER| WO50A
GENERAL NOTES:

Soil Plate on

Downstream Side

31"

— 24 7/8°

SECTION A—A
Post #2

N

ELEVATION

[
G
T
ﬁ
, f(2

Post #1 Connection Detail

é__® [ = m V
/® COMIE) m

Impact Head Connection Detail

1. All bolts, nuts, cable assemblies, cable anchors and
bearing plates shall be galvanized.

2. The lower sections of the Posts 1&2 shall not protrude
more than 4 in above the ground (measured along a 5' cord).
Site grading may be necessary to meet this requirement.

3. The lower sections of the hinged posts should not be driven
with the upper post attached. If the post is placed in a drilled
hole, the backfill material must be satisfactorily compacted to
prevent settlement.

4. When competent rock is encountered, a 12" @ post hole,
20 in. deep cored into the rock surface may be used if
approved by the engineer for post 1. Granular material will be
placed in the bottom of the hole, approximately 2.5" deep to
provide drainage. The first post can be field cut to length,
placed in the hole and backfilled with suitable backfill. The scil
plate may be trimmed if required.

5. The breakaway cable assembly must be taut. A locking
device (vice grips or channel lock pliers) should be used to
prevent the cable from twisting when tightening nuts.

Road Systems, Inc.
Big Spring, TX
Phone: 432-263-2435
or Phone: 330-346-0721

Sheet:

FLEAT-SP-MGS Terminal 1

Midwest Guardrail System |41

31" Top of Rail

B

y:
JRR

Drawing Name: Scale: Rev:

FLT-SP-S-MGS Nomne 0




